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Activity :
System Testing Refine
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Ref.#

Test case ID

Test Scenario

R1.1

T.timekeeping.2

2100 O| &2 2 F7tg
1970 Yo 2 L4z,
INPUT : year 21000| A0 A{ B

INPUT : year 1970 month 1 day 10X daydil AME & =D

R21

T.stopwatch.4

59& 59X 99 O|A&to 2 S 7t

INPUT : B -> 1A|Zt CH7|




R 4.3 T.timer.5 EtO| LAIEX|LE 0N ZE H2HO| £|X| Gi5
R 4.2 T timer.7 NPUT - AA>B>AA>B>B>C
R 6.2 T.brightness.2 TE T BHEO B3
INPUT:D->B->B->D->B
R1.3.2 T.buzzer.2 CIE HEO| Q2o 7| SCHE ZASICT
INPUT : 20| 22[= & C




F 1.1« | Ttimekeeping | T 71 A d H3E =LA Fe 2100
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27
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R 2.1¢ | T.stopwatch.4« | AEFF A gho] FaH=
oo ZHFH ZHH AT A
Tzl AXEE FE '

594 59% 99

olatom =7p|

stopwatchTime. se

b else 1f (stopwatchTime.
stopwatchTime. se

stopwatchTime. setMinutel

stopwatchTime.getM_second
£ 2QIst= ZAS if20 A

M A
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R 6.2

T .brightness.2

[=]

TEEE AL

Ta ¥
BH| £

l-)
H!’ [+] ‘;‘

an check

c (check)

gui.

BLC.daylon

= BLC.

1 check =
(check) {

BLC.daylong(TKM

gui.watchBELC(BLC.

7




R
1.3.2

T.buzzer.2

buzzer?] ZHF o] A&l
A Aol A B E 7] 5 SHFEE

AZ5.

O & B Eol
2

b

ringTh.s

thread.interr

ringTh.se

urrentState=

currentState=

ringTh.se

thread.

ringTh.s

if(currentState=
currentstate=19;
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Activity :
Refine Static Analysis
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A\
1. FindBugs
L. Hizh Priority«
1 DLE DEAD LOCAL_STORE«
a WE . AMELF ¥ A9 Hae I ZATL T
b, F= : Mainjava:be
DWS AtES KA E F7}
,
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1.

2

FindBugs

ST_WRITE_TO_STATIC FROM_INSTANCE METHOD «
a. WE : Static fieldd] £ = HIHE UAEHAI EAHEULHS
b, HZ 28 Setter HAE S ALESH| E A ELULL -
c. F3A e

static H=0{| M static 2} A




2. PMD

1. SwystemPrintln
a W% : System.out.printlne] AF&-%
b. #2 9 g 7& AA

c. 93 : DWS_controller java:521

3. PositionLiteralsFirstlnComparisons

a & EAEE aE e e 2AEE A5
ol =] S A £

b. #2 9 24E 449 eqauls()E &4 L.

v

v

AH| 2
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2. PMD
1 AvoidDuplicateLiterals
a W& 4 EHde isde s e ey
b. #Z 98 : enum®] L} static final & 4 &le] ALLE14 0
c. 94 :

"AMERICA",

3. UszseEqualsToCompareStrings

& 22 H]ile] ==8 %] oj4 A e

#3 U : equals(iE TS A

3 : SWMode java: 46

"EURCPE",

"CHINA™,

if("black".equals({SW[currentIndex][2]))

"RUSSIA"™, “SINGAPORE"Y;




Activity :
Refine Unit Testing
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1. Timekeeping Mode

2. Stopwatch Mode




3. Timer Mode

4. Alarm Mode




5. WorldTime Mode 6. Brightcontrol Mode
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7. Software Select Mode

Test Results

8. Ring test
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